CITY OF CHANDLER

HAMILTON STREET IMPROVEMENTS FROM IRIS PLACE TO APPLEBY ROAD ST2007.401

BID SCHEDULE REVISION DATED 1/29/2024

| item(s) | Description | Est. Qty. | Unit | Unit Price | Amount |
|---------|---|--------------|------|---------------|------------|
| 1 | CONSTRUCTION SURVEYING AND LAYOUT | 1 | LS | | 52,000.00 |
| 2 | GPS DATA COLLECTION (ESRI - ARCGIS GEODATABASE FORMAT) | | | _ | 5,000.00 |
| 3 | EROSION CONTROL (SWPPP PREPARATION, INSTALLATION, MAINTENANCE, AND REMOVAL) | 1 | LS | _ | 18,370.00 |
| 4 | MOBILIZATION/DEMOBILIZATION | 1 | LS | | 224,100.00 |
| 5 | CLEARING AND GRUBBING | 1 | LS | | 14,000.00 |
| 6 | TRIM TREES | 1290 | LF | 13.00 | 16,770.00 |
| 7 | EARTHWORK FOR RETENTION BASINS | 940 | CY | 24.00 | 22,560.00 |
| 8 | RIPRAP, D50=6 IN, T=12 IN | 45 | CY | 74.00 | 3,330.00 |
| 9 | SUBGRADE PREPARATION | 9339 | SY | 37.00 | 345,543.00 |
| 10 | AGGREGATE BASE, 12 IN THICK | 8789 | SY | 19.00 | 166,991.00 |
| 11 | AGGREGATE BASE, 9 IN THICK | 384 | SY | 20.00 | 7,680.00 |
| 12 | AGGREGATE BASE, 6 IN THICK | 40 | SY | 36.00 | 1,440.00 |
| 13 | AGGREGATE BASE, 4 IN THICK | 63 | SY | 23.00 | 1,449.00 |
| 14 | LIME STABILIZATION | 6902 | SY | 8.00 | 55,216.00 |
| 15 | ASPHALTIC CONCRETE PAVEMENT (2 IN SURFACE COURSE, A-12.5 EVAC) | 8852 | SY | 20.00 | 177,040.00 |
| 16 | ASPHALTIC CONCRETE PAVEMENT (3 IN SURFACE COURSE, A-12.5 EVAC) | 424 | SY | 66.00 | 27,984.00 |
| 17 | ASPHALTIC CONCRETE PAVEMENT (3 IN BASE COURSE, A-19 EVAC) | 8789 | SY | 33.00 | 290,037.00 |
| 18 | PORTLAND CEMENT CONCRETE PAVEMENT (PCCP), 9 IN THICK | 62 | SY | 112.00 | 6,944.00 |
| 19 | BITUMINOUS TACK COAT SS-1H, DILUTED | 8789 | SY | 1.00 | 8,789.00 |
| 20 | ASPHALT PAVEMENT EDGE, MAG DET 201, TYPE 'B' | 74 | LF | 27.00 | 1,998.00 |
| 21 | VERTICAL CURB & GUTTER, TYPE A, H=6 IN, MAG DET 220-1 | 3698 | LF | 28.00 | 103,544.00 |
| 22 | SINGLE CURB, TYPE A, MAG DET 222 | 1331 | LF | 29.00 | 38,599.00 |
| 23 | CONCRETE SIDEWALK, MAG DET 230 | 15783 | SF | 7.00 | 110,481.00 |

Rev.11/28/2022 5

| | | | | 1 | |
|----|---|------|------------|-----------|-----------|
| 24 | CONCRETE CURB RAMP WITH DETECTABLE WARINING, COC DET C-257 (MODIFIED) | 202 | SF | 38.00 | 7,676.00 |
| 25 | CONCRETE CURB RAMP WITH DETECTABLE WARNING, COC DET C-258 (MODIFIED) | 1 | | 15,345.00 | |
| 26 | DRIVEWAY ENTRANCE, MAG DET 250-2, COMMERCIAL / INDUSTRIAL | 1044 | SF | 17.00 | 17,748.00 |
| 27 | CONCRETE APRON AND VALLEY GUTTER, MAG DET 240 | 1012 | SF | 26.00 | 26,312.00 |
| 28 | ADJUST MANHOLE FRAME & COVER, MAG DET 422 AND COC DET C-401 | 2 | EA | 580.00 | 1,160.00 |
| 29 | ADJUST VALVE BOX & COVER, MAG DET 391-1 AND COC DET C-307 | 4 | EA | 550.00 | 2,200.00 |
| 30 | ADJUST VALVE BOX & COVER, MAG DET 391 AND COC DET C-406 | 3 | EA | 550.00 | 1,650.00 |
| 31 | REMOVE ASPHALTIC CONCRETE PAVEMENT | 1297 | SY | 14.00 | 18,158.00 |
| 32 | REMOVE PORTLAND CEMENT CONCRETE PAVEMENT | 71 | SY | 45.00 | 3,195.00 |
| 33 | REMOVE CONCRETE CURB AND GUTTER | 445 | LF | 8.00 | 3,560.00 |
| 34 | REMOVE CONCRETE RIBBON CURB | 168 | LF | 7.00 | 1,176.00 |
| 35 | REMOVE CONCRETE VALLEY GUTTER AND APRON | 1095 | SF | 4.00 | 4,380.00 |
| 36 | REMOVE CONCRETE SIDEWALK AND CONCRETE SLABS | 825 | SF | 3.00 | 2,475.00 |
| 37 | REMOVE CONCRETE PAVERS | 832 | SF | 4.00 | 3,328.00 |
| 38 | REMOVE CONCRETE SCUPPER | 198 | SF | 12.00 | 2,376.00 |
| 39 | REMOVE CONCRETE SPILLWAY | 768 | SF | 4.00 | 3,072.00 |
| 40 | REMOVE CONCRETE DITCH, BACKFILL AND COMPACT | 406 | LF | 27.00 | 10,962.00 |
| 41 | REMOVE CONCRETE DITCH, BACKFILL AND COMPACT (SRP) | 1487 | LF | 21.00 | 31,227.00 |
| 42 | REMOVE IRRIGATION STRUCTURE AND GATES (SRP) | 1 | EA | 1,274.00 | 1,274.00 |
| 43 | REMOVE CONCRETE HEADWALL (SRP) | 1 | EA | 1,275.00 | 1,275.00 |
| 44 | REMOVE 36 IN RGRCP IRRIGATION PIPE, BACKFILL AND COMPACT (SRP) | 46 | LF | 354.00 | 16,284.00 |
| 45 | REMOVE PIPE (12 IN TO 36 IN), BACKFILL AND COMPACT | 193 | LF | 22.00 | 4,246.00 |
| 46 | REMOVE FENCE | 229 | LF | 8.00 | 1,832.00 |
| 47 | REMOVE GATE | 1 | EA | 244.00 | 244.00 |
| 48 | REMOVE CONCRETE BLOCK MASONRY WALL | 2003 | SF | 8.00 | 16,024.00 |
| 49 | REMOVE BARRICADE AND SIGNS | 5 | EA | 97.00 | 485.00 |
| 50 | REMOVE EXISTING BOXES, BLOWOFF ASSEMBLY, BALL VALVES, FITTINGS & PIPING | 1 | EA | 1,977.00 | 1,977.00 |
| 51 | REMOVE 8 IN DIP, FLUSHING PIPE ASSEMBLY AND FITTINGS | 30 | L F | 12.00 | 360.00 |
| 52 | TRAFFIC CONTROL | 1 | LS | | 26,800.00 |

| 53 | BARRICADE, TYPE A, MAG DET 130 | 18 | LF | 115.00 | 2,070.00 |
|--------|--|----------|----|-----------|-----------|
| 54 | SURVEY MARKER, TYPE A, MAG DET 120 | 1 | ΕA | 146.00 | 146.00 |
| 55 | SURVEY MARKER, TYPE B, MAG DET 120 | 5 | EA | 182.00 | 910.00 |
| 56 | PIPE RAIL FENCE (MATCH EXISTING) | | LF | 61.00 | 12,139.00 |
| 57 | LANDSCAPE ESTABLISHMENT PERIOD | | LS | 01.00 | 9,290.00 |
| 58 | SHRUB - 5 GAL | 1 199 | EA | 22.00 | 4,378.00 |
| 59 | TREE - 48 IN BOX, 2.75 - 4.00 IN CAL MIN | 28 | EA | 2,307.00 | 64,596.00 |
| 60 | DECOMPOSED GRANITE (TO MATCH EXISTING) | 525 | SY | 9.00 | 4,725.00 |
| 61 | DECOMPOSED GRANITE, 1 1/4 IN SCREENED, DESERT GOLD | 4974 | SY | 7.00 | 34,818.00 |
| 62 | LANDSCAPE AND IRRIGATION RESTORATION | 152 | SY | 10.00 | 1,520.00 |
| 63 | 1 IN ELECTRICAL CONDUIT SLEEVE (SCH. 40 PVC) | 50 | LF | 17.00 | 850.00 |
| 64 | 3 IN IRRIGATION PIPE SLEEVE (SCH. 40 PVC) | 18 | LF | 26.00 | 468.00 |
| 65 | 6 IN IRRIGATION PIPE SLEEVE (SCH. 40 PVC) | 50 | LF | 28.00 | 1,400.00 |
| 66 | CLASS 200 PVC IRRIGATION PIPE, 3/4 IN | 2665 | LF | 4.00 | 10,660.00 |
| 67 | SCH. 40 PVC IRRIGATION PIPE, 1-1/2 IN | 817 | LF | 7.00 | 5,719.00 |
| 68 | 1-1/2 IN PVC BALL VALVE ASSEMBLY | 1 | EA | 425.00 | 425.00 |
| 69 | 3/4 IN FLUSH VALVE ASSEMBLY (DRIP) | 6 | EA | 82.00 | 492.00 |
| 70 | 1 IN REMOTE CONTROL VALVE, ELECTRIC | 4 | EA | 931.00 | 3,724.00 |
| 71 | MULTI OUTLET EMITTER ASSEMBLY | 28 | EA | 37.00 | 1,036.00 |
| 72 | SINGLE OUTLET EMITTER ASSEMBLY | 199 | EA | 25.00 | 4,975.00 |
| 73 | PERFORATED SIGN POST | 141 | LF | 41.00 | 5,781.00 |
| 74 | PERFORATED SIGN POST FOUNDATION | 12 | EA | 128.00 | 1,536.00 |
| 75 | SIGN PANEL WITH TYPE VIII/IX/X SHEET | 88 | SF | 43.00 | 3,784.00 |
| 76 | NO. 7 PULL BOX W/ EXTENSION | 5 | EA | 4,402.00 | 22,010.00 |
| 77 | NO. 9 PULL BOX VAULT | 2 | EA | 15,043.00 | 30,086.00 |
| 78 | SRP LIGHTING PULL BOX (CONTRACTOR SUPPLIED AND INSTALLED) | 14 | EA | 1,228.00 | 17,192.00 |
| 79 | SCH. 40 PVC ELECTRICAL CONDUIT, 2-1/2 IN (STREET LIGHTING PER SRP PLANS) | 2000 | LF | 22.00 | 44,000.00 |
| 80 | 4 - 2 IN PVC INTERCONNECT CONDUIT | 2250 | LF | 36.00 | 81,000.00 |
| 81 | 3 - 3 IN PVC CONDUITS PER SRP PLANS | 100 | LF | 62.64 | 6,264.00 |
| 82 | STREET LIGHT POLE FOUNDATION FOR SL-1 POLE | 14 | EA | 2,477.00 | 34,678.00 |
| 83 | STREET LIGHT POLE, 28.5 FT SL-1 WITH SINGLE DAVIT ARM | 14 | EA | 3,706.00 | 51,884.00 |
| 84 | LED STREET LIGHT LUMINAIRE, TYPE II | 14 | EA | 1,004.00 | 14,056.00 |
| 85 | RELOCATE STREET LIGHT POLE AND ELECTRICAL (CUSD) | 1 | EA | 627.00 | 627.00 |
| 86 | STREET LIGHT POLE FOUNDATION (CUSD) | 1 | EA | 2,477.00 | 2,477.00 |
| 87 | CONDUCTORS FOR STREET LIGHTING | 1 | LS | | 1,100.00 |
| 88 | CONCRETE SCUPPER, COC DET C-500, W=4 FT | 1 | EA | 7,379.00 | 7,379.00 |
| 89 | CONCRETE SCUPPER, COC DET C-500, W=8.5 FT | 2 | EA | 9,015.00 | 18,030.00 |
| 90 | CONCRETE SCUPPER, COC DET C-500, W=17.5 FT | 1 | EA | 15,680.00 | 15,680.00 |

| 91 | CONCRETE SPILLWAY, COC DET C-500, W=4 FT | 22 | LF | 288.00 | 6,336.00 |
|-----|---|------|----|-----------|------------|
| 92 | CONCRETE SPILLWAY, COC DET C-500, W=8.5 FT | 63 | LF | 182.00 | 11,466.00 |
| 93 | CONCRETE SPILLWAY, COC DET C-500, W=17.5 FT | 30 | LF | 449.00 | 13,470.00 |
| 94 | RETENTION BASIN INLET, SINGLE BUBBLER BOX, COC DET C-507 | 2 | EA | 19,451.00 | 38,902.00 |
| 95 | DRYWELL, COC DET C-501 | 1 | EA | 54,910.00 | 54,910.00 |
| 96 | CATCH BASIN, MAG DET 533-1, TYPE D | 2 | EA | 11,940.00 | 23,880.00 |
| 97 | CATCH BASIN, MAG DET 533-1, TYPE D, ONE 10 FT WING | 1 | EA | 21,240.00 | 21,240.00 |
| 98 | CATCH BASIN, MAG DET 533-1, TYPE D, TWO 10 FT WINGS | 1 | EA | 26,650.00 | 26,650.00 |
| 99 | SRP CONCRETE LINED DITCH | 32 | LF | 486.00 | 15,552.00 |
| 100 | SRP FOUR SIDED MANHOLE | 2 | EA | 18,140.00 | 36,280.00 |
| 101 | SRP FIVE SIDED MANHOLE | 1 | EΑ | 19,550.00 | 19,550.00 |
| 102 | SRP HEADWALL WITH TRASH RACK | 1 | EA | 14,000.00 | 14,000.00 |
| 103 | SRP CONCRETE PIPE COLLAR | 2 | EA | 1,779.00 | 3,558.00 |
| 104 | DRAINAGE STRUCTURE (PIPE PENETRATION) | 1 | EA | 1,065.00 | 1,065.00 |
| 105 | CONCRETE MASONRY BLOCK WALL | 2201 | SF | 36.00 | 79,236.00 |
| 106 | REMOVE AND RECONSTRUCT EXISTING BLOCK WALL | 240 | SF | 36.00 | 8,640.00 |
| 107 | HEADWALL WITH TRASH RACK, MAG DET 502-1 (IRRIGATION) | 2 | EA | 16,407.00 | 32,814.00 |
| 108 | 6 IN DUCTILE IRON PIPE WATERLINE WITH FITTINGS | 151 | LF | 84.00 | 12,684.00 |
| 109 | 12 IN DUCTILE IRON PIPE WATERLINE WITH FITTINGS | 2437 | LF | 116.00 | 282,692.00 |
| 110 | 12 IN DUCTILE IRON PIPE RECLAIMED WATERLINE WITH FITTINGS | 607 | LF | 132.00 | 80,124.00 |
| 111 | INSTALL FIRE HYDRANT, TYPE A, COC DET C-303 | 5 | EA | 3,862.00 | 19,310.00 |
| 112 | DUCTILE IRON TEE FITTING | 8 | EA | 1,324.00 | 10,592.00 |
| 113 | RESTRAINED PIPE CAP & FLUSHING PIPE PER COC DET C-300 | 2 | EΑ | 1,374.00 | 2,748.00 |
| 114 | 6 IN GATE VALVE WITH BOX & COVER | 5 | EA | 1,635.00 | 8,175.00 |
| 115 | 12 IN GATE VALVE WITH BOX & COVER | 10 | EA | 4,233.00 | 42,330.00 |
| 116 | AIR/VACUUM RELEASE VALVE, COC DET C-319 | 4 | EA | 4,772.00 | 19,088.00 |
| 117 | CONCRETE ENCASEMENT, MAG DET 404 | 82 | LF | 95.00 | 7,790.00 |
| 118 | 18 IN RGRCP, CLASS III | 73 | LF | 117.00 | 8,541.00 |
| 119 | 24 IN RGRCP, CLASS III | 71 | LF | 148.00 | 10,508.00 |
| 120 | 24 IN RGRCP, CLASS V | 468 | LF | 112.00 | 52,416.00 |
| 121 | 36 IN RGRCP, CLASS III (SRP) | 1250 | LF | 313.00 | 391,250.00 |
| 122 | 36 IN RGRCP, CLASS V (SRP) | 125 | LF | 485.00 | 60,625.00 |
| 123 | 12 IN STORM DRAIN PIPE | 50 | LF | 106.00 | 5,300.00 |
| 124 | 24 IN HDPE STORM DRAIN PIPE | 166 | LF | 123.00 | 20,418.00 |
| 125 | CONCRETE PIPE COLLAR, MAG DET 505 | 3 | EA | 1,643.00 | 4,929.00 |
| 126 | STORM DRAIN MANHOLE, MAG DET 520 AND 522 | 1 | EA | 8,135.00 | 8,135.00 |
| 127 | 24 IN STEEL CASING, OPEN TRENCH | 24 | LF | 373.00 | 8,952.00 |
| 128 | PRIVACY MESH SCREEN (6 FT HIGH) | 250 | LF | 4.00 | 1,000.00 |

| 129 | OWNER'S ALLOWANCE: CITY OF CHANDLER IMPROVEMENTS | 1 | AL | | \$100,000.00 |
|-----|--|---|----|---------|--------------|
| 130 | OWNER'S ALLOWANCE: CHANDLER UNIFIED SCHOOL DISTRICT IMPROVEMENTS | 1 | AL | | \$100,000.00 |
| 131 | ALLOWANCE: SRP AND PRIVATE IRRIGATION | 1 | AL | | \$100,000.00 |
| 132 | ALLOWANCE: SRP ELECTRICAL | 1 | AL | D. S. W | \$50,000.00 |
| 133 | ALLOWANCE: WATERLINE | 1 | AL | | \$85,000.00 |
| 134 | ALLOWANCE: RECLAIMED WATERLINE | 1 | AL | | \$20,000.00 |
| 135 | ALLOWANCE: OVER-EXCAVATION | 1 | AL | | \$150,000.00 |

| BASE BID (Items 1 – 135) | \$ | 4,518,727.00 |
|--------------------------|------------|--------------|
| | (In Number | rs) |

Note 1: Bidders must fill in all blank spaces with an entry. Bids submitted with blank spaces will be considered "Non-Responsive".

Note 2: Bids will be opened and read aloud at an open public meeting at the time and place designed in the invitation for bids. Bids will not be modified after the bid opening. A bidder withdrawing a bid after the bid opening will be deemed non-responsible and the City may make a claim against the bidder's bid bond.

Note 3: The City reserves the right to determine the low bidder based on the Base Bid with or without any Bid Alternate(s).

CUSD responsible for \$1,614,134.99 of construction costs per City of Chandler and Chandler Unified School District quantity reconciliation